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—3<x
intervalle

1+4
9 18

3x—4=0
solution

(10 — x)?

B(17; 1)et H(—11; 13)
milieu

x € [11; +oo[ U[12; 16]
ensemble

7 X (+0) + (-13) + (—-11)

V125
avh

f(x)=—-9x -1
f(x) =-=5

G(1; 8)etC(0; 4)
distance




x € [18; 20]
inégalité(s)

8 9
_X_
10 11

24+3x=0
solution

x+1Dx—-1)

A(—=20; 17)et B(24; 1)
milieu

23< x <28o0u8<x<16
intervalle(s)

21 — 14 + 6 X (—6)

7% 13

f(x)=5-3x
image de — 6

D(—4; —9)et E(9; 8)
distance




X €]24; +oof x€]—1; 3[N]2; +oof
inégalité(s) ensemble
5 9 3 (10—1)1 X 10—10
9 7 108
—3x+8=0 482 — 522
solution
_ 2 f(x) =4—-3x
(x —10) antécédent de 2
C(12; 8)et D(8; —4) D(—9; 4)et C(—9; —1)
milieu distance




x < -5
intervalle

8 10
_X_
8 3

8x+10=0
solution

(x+6)(x—6)

B(—16; 16)et A(1; —23)
milieu

x €]19; 26[ N]26; 30]
ensemble

24 — 25 — (=3) x (=3)

V32
avb

f(x)=—-4x -8
antécédent de — 7

F(—4; 3)et B(—5; 9)
distance




x €] — 14; —13]
inégalité(s)

N[ ©
X
o)} e

—7—3x=0
solution

(11 + x)?

C(—22; =5)et D(—17; —13)
milieu

—-10<x<1ou?22< x <23
intervalle(s)

100 x (1074)™*
107

V72
avb

fx)=—-1—x

antécédent de 9

E(—6; 3)et A(—10; —=7)
distance




x €] —10; 3] —-8<x<160u23< x <24
inégalité(s) intervalle(s)
2 3
Sx= —11 — 16 + (=6) X (—10)
2 3
—8x+1=0 V8
solution avhb

f(x)=-8—-10x

(x+10)(x — 10) image de 9

C(18; 21)et H(22; —7) F(—=9; —1)et E(7; 8)
milieu distance




X € [23; +oof
inégalité(s)

8+9
3 9

—7x+6=0
solution

(11 + x)?

C(5; 4)et B(—2; 1)
milieu

x € [-5; 3]U[-2; 10]
ensemble

103 x 1071
(107°)=°

172

f(x) =—-9+4x
f(x)=9

F(—=2; 1)et B(—6; —8)
distance




11<x <15
intervalle

4 8
_X_
12 16

10—x=0
solution

(11 + x)(11 — x)

E(—1; —20)et D(—2; 11)
milieu

—25< x <—-21let —12<x<13
intervalle(s)

107* x 107
(10%)*

342 — 262

f(x)=—-1—-6x
antécédent de 6

E(7; —4)et H(5; —6)
distance




X € [6; +oof
inégalité(s)

6 18
—_— X —_—
24 10

1—6x=0
solution

(4 —x)?

D(—17; 6)et G(3; 23)
milieu

x €] —o0; 11[ U]6; 13]
ensemble

(1073)"1 x 10~5
100

11x9

fx)=7—x
F-7) =

G(—2; 7)et E(—4; 0)
distance




n°10

x €]23; +oof
inégalité(s)

16 8
_X_
4 20

—1—-3x=0
solution

(—x — 12)?

G(—20; 5)et C(—18; 22)
milieu

x €] —oo; 30[ N[—11; 1]
ensemble

1078 x 1077
(10%)7

V48
avb

f(x) =1x

antécédent de 0

F(8; 0)et C(—10; 0)
distance




n°11

X €]24; +oof
inégalité(s)

1 25

15 2

—10+x=0
solution

(3 + x)?

C(—17; —=22)et G(11; —9)
milieu

—-10<x<7et —12<x<-9
intervalle(s)

~7 x (+6) = (=10) — (=7)

322 — 282

f(x)=7x+1
image de 6

A(—6; —=5)et H(—8; 4)
distance




n°12

4<x<8 x €[14; 27[U[6; 18]
intervalle ensemble
10 4
o — -7 x 3 — (—-18) + 13
12 11
3x+5=0 432 — 372
solution
f(x) =4x—6
x+11)(x — 11
(x + 11)(x — 11) =6
F(14; —3)et C(—15; —1) B(—=7; 10)et F(—6; 6)
milieu distance




n°13

X € [—14; +oof
inégalité(s)

—10—-5x=0
solution

(x + 11)2

E(2; 23)et A(3; 14)

milieu

x €] —26; 26[ U[26; 30]
ensemble

—3 X (+4) + 16 — (+3)

28% — 322

f(x) =6—4x
antécédent de 9

D(—6; —4)et E(—1; —4)
distance




n°14

7<x<15
intervalle

6x+9=0
solution

(12 — x)?

D(18; 7)et B(16; 10)
milieu

11<xou2l< x <25
intervalle(s)

108 x (10%)1
100

142

f(x) =10+ 9x
flx) =-3

E(5; —4)etF(2; —=7)
distance




n°15

x €] —10; 19]
inégalité(s)

16 10
—_— X —_—
10 4

6+2x=0
solution

24+ x)(2—x)

E(21; 20)et D(13; —22)
milieu

0<x<17et1<x <12
intervalle(s)

7 x 10 — (=21) — (—10)

152 — 252

f(x) =—-5+6x
image de — 5

E(—=5; 0)et A(2; —3)
distance




n°16

18 < x x<—190ul7<x
intervalle intervalle(s)
30 o 18 10~5 % (10—2)—10
9 30 10-2
L+x=0 46 X 54
solution
_ f(x) =3+ 2x
(7 +2)(7 = x) antécédent de — 6
F(=21; DetG(16; —2) G(—6; —2)etD(2; =7)
milieu distance




n°17

X €] — oo; 8]
inégalité(s)

O
X
W]

4 —4x =0
solution

(7 4+ x)(7 — x)

A(9; 2)et F(22; 11)
milieu

b<x<20et —19<x< -2
intervalle(s)

91 X (9—8)1
9—9

222

f(x)=-5x+10
image de 0

F(10; 5)et H(10; 7)
distance




n°18

—6<x
intervalle

12 8
_X_
6 10

1—-9% =0
solution

(2 —x)°

G(22; 15)et F(7; 19)
milieu

x €] —oo; 26[ N[—13; 1]
ensemble

(1079)3 x 1077
1010

152 — 252

() = —3x
o) = —6

A(0; 2)et E(—7; —=5)
distance




n°19

x €]21; +oof
inégalité(s)

9+10
9 45

24+4x =0
solution

(x + 8)(x — 8)

F(=21; —6)et G(—25; 9)
milieu

2<x<10oub<x
intervalle(s)

(10%)° x 1075
109

442 — 362

f(x) =10x
f(5) =

H(7; 8)et F(—8; 10)
distance




n°20

X € [24; +oo] x € [18; +oo[ N[24; +oo
inégalité(s) ensemble
11 12 103 X (108)—2
—_— X —_—
3 5 109
solution
f(x) =10 — 6x
x+12)(x — 12
(x +12)(x — 12) D =
C(—24; —19)et D(-8; 3) E(0; —10)et D(9; 4)
milieu distance




n°21

X €] — o0; 15]
inégalité(s)

9+ 7
10 100

5x—7=0
solution

(8 —x)?

C(—25; 25)et H(—23; 8)
milieu

—5<xou —15<x<—-12
intervalle(s)

5 X (=3) + (+20) — (+9)

36 X 44

f(x)=5x+1
image de — 1

B(10; 10)et A(—6; —6)
distance




n°22

X €] — o0; —8]
inégalité(s)

3x—3=0
solution

(3 —x)?

E(—12; —18)et G(5; —8)

milieu

x € [20; +oo[ N[22 ; +oo

ensemble

103 x (105)~°
109

302

f(x) =5x+3
fx)=7

D(—4; 5et C(—3; —8)

distance




n°23

19 <x x € [—20; 2[ U[-17; =5]
intervalle ensemble
7 3
— X — —21 + (—-24)— (-6) X (+7)
8 6
7x+4=0 V128
solution avb
_ 2 f(x)=9x
(—x +5) £x) = 4
G(3; 3)et E(—25; —12) C(—4; 6)et A(7; —6)
distance

milieu




n°24

x €]5; 6] x € [26; 30[ N[—10; O
inégalité(s) ensemble
10 10 (1076)8 x 10°
12 3 1010
—4x+4=0 V54
solution avhb
(11 + x)? fx)=-7x+7

G(16; —7)et H(—7; 6)
milieu

antécédent de — 7

E(5; 6)et B(9; 3)
distance




n°25

X €]14; +oof
inégalité(s)

1 10

9 63

—x+1=0
solution

(11 — x)?

D(—15; 24)et F(—21; 9)
milieu

x €] —18; 29[ N] —6; 21|
ensemble

(1274)3 x 128
12-1

32 X 28

flx) =—-6
flx)=0

G(10; —=7)et F(9; 3)
distance




n°26

—1l6<x <11
intervalle

12 6
_X_
8 12

—1—-9x=0
solution

(x+6)(x—6)

F(—=20; —19)et C(21; 20)
milieu

100<x<13etl17<x
intervalle(s)

(10~10)=7 x 10~5
106

V20
avb

f(x)=—-5x—-3
f(x) =8

G(—3; 7)et E(5; 6)
distance




n°27

x €] —13; —10]
inégalité(s)

8 3
_X_
4 10

—5x+2=0
solution

(4 —x)?

A(—11; —20)et H(—5; 8)
milieu

—12<x<5etl1l7<x<19
intervalle(s)

(1019)10 x 10?
1078

25% — 352

fx)=7—6x
antécédent de — 9

H(4; 1)et A(10; 10)
distance




n°28

x €[-12; —1]
inégalité(s)

55
55

—4+3x=0
solution

(3 —x)?

F(—=24; —24)et G(18; 1)
milieu

6<x<90u —6<x
intervalle(s)

0+ (—4)x (=2)— 17

V200
avh

f(x)=3x—-5
fx)=7

F(—=10; 2)et H(O; 6)
distance




n°29

x <18
intervalle

9 5

3 12

3x—3=0
solution

(x+3)(x —3)

H(23; —14)et D(—14; —14)
milieu

x €]7; 18] N]12; 29]
ensemble

f(x)=—-2x—-7
(OF

A(10; 5)et C(2; —6)
distance




n°30

x €[20; +oof —-l1<x<-—-6et —1<x<14
inégalité(s) intervalle(s)
24
= -5+ (+11) + (+8) x 8
12
3x —3=0 V112
solution avb
f(x)=-1+3x
4+x)4—x
(4 +1)(4 — ) (Z6) =
F(-3; 11et H(13; —10) F(-=5: —1et D(3; 7)

milieu distance




n°31

x € [-11; 0]
inégalité(s)

8 10
_X_
3 7

—1—-6x=0
solution

(—x — 4)*

H(23; 14)et C(—12; —14)
milieu

x € [10; 21[ N[14; 17]
ensemble

371 x (31)°
32

26 X 34

f(x) =8+ 4x
antécédent de — 6

B(7; —1)et E(2; —6)
distance




n°32

X €]21; +oo[ —27< x <23et —19<x<10
inégalité(s) intervalle(s)
28 _ 8—1 X (86)—1
42 g—3
L+6x=0 9x 11
solution
f(x)=3x+1
x+8)(x—8
(x +8)(x - 8) =8
A(=20; 3)et D(19; —4) H(-7; =7)et C(9; —2)
milieu distance




n°33

x €[—1; 1]
inégalité(s)

10 6

7 42

2x+3=0
solution

(x+7)(x—7)

A(—18; 10)et E(—15; —11)
milieu

b6<x<7et3<x
intervalle(s)

9—10 X 98
(973)°

152

f(x)=6x—2
fx) =1

H(—4; 0)etB(2; 1)
distance




n°34

X €] — o0; —3]
inégalité(s)

x+1=0
solution

(x —12)?

B(17; —16)et C(—18; —11)
milieu

—20<x<-—-9etx <11
intervalle(s)

—6 X9 — 18 — (=22)

27 X 33

f(x)=-9+«x
image de — 10

E(6; 7)et A(—1; 10)
distance




n°35

x € [4; 5]
inégalité(s)

8 5

5 20

—6+x=0
solution

(x — 5)°

A(—=19; 3)et H(17; —15)
milieu

12<x<14et —20<x <19
intervalle(s)

-8 x (=7) — (=20) — (+6)

332 — 272
f(x) =9+ 2x
f(x) =3

G(2; =9)et F(—6; —7)
distance




n°36

x € [15; 17]
inégalité(s)

Ny

8
=X
3

1+10x =0
solution

(x+9)(x—9)

H(24; 18)et D(—16; 9)
milieu

x € [=7; =5] N] — o0; 15]
ensemble

1072 x (1077)10
10-6

V18
avb

f(x) =—6 —5x
FG) = -3

F(—=9; 0)et E(8; —9)
distance




n°37

0<x<6 —l6<xetx<-1
intervalle intervalle(s)
8
= — —6 X 3 — 25 + (—8)
10
6x+1=0 21 x 19
solution
2 fx)=—-2x—-2
(11 +x) image de 6
G(—14; 5)et A(—12; 12) B(8; 6)et D(10; 2)
milieu distance




n°38

X €]24; +oof
inégalité(s)

—6x+2=0
solution

(—x — 7)%

E(19; =7)et C(24; —13)
milieu

—4<x<190ul3<x
intervalle(s)

10710 x 10°
(10%)®

22% — 182

f(x) =9+ 10x
f(x) =10

A(—8; —=7)et D(8; —7)
distance




n°39

12<x <17
intervalle

18 10
— X —
12 12

x—9=0
solution

(6 — x)?

B(4; 17)et G(—11; 10)
milieu

14<xoul2<x<15
intervalle(s)

(108)~10 x 107
107

V150
avh

fx)=1-x

antécédent de 2

C(10; —2)et H(—5; 7)
distance




n°40

14 <x <16
intervalle

x+7=0
solution

(84 x)(8 —x)

G(—12; —22)et E(—4; 16)
milieu

26 < x <28et6<x<15
intervalle(s)

(10°7)7 x 10°
102

V200
avh

f(x)=—-8x—-5
antécédent de 9

D@3; et F(—1; —7)
distance




n°41

x €]4; 20]
inégalité(s)

1 9
___l__

x+6=0
solution

94+ x)(9 —x)

A(—14; —24)et B(—13; 13)
milieu

—-5<x<120u —2<x
intervalle(s)

—6 x (=9) — (=6) + (—24)

282

fx)=-2x+7
f(=6) =

B(—=5; —3)et E(0; 3)
distance




n°42

—-12<x<8
intervalle

wil N

3
=X
3

—3x+10=0
solution

(—x — 6)2

C(13; 5)et G(—24; —23)
milieu

3<xou —3<x<7
intervalle(s)

105 x (102)3
10—10

182

f(x)=—-4x—-10
F(=7) =

E(—4; 0)et F(—6; —2)
distance




n°43

8<x<13
intervalle

—6—5x=0
solution

(12 — x)?

E(=24; 24)et C(—11; 22)
milieu

x € [28; +oo[ U[30; +oof
ensemble

10° x (101)°
101

172

f(x) =7+ 4x
fx) =4

D(4; —3)et G(5; —5)
distance




n°44

0<x<?20 6<xetl9<x
intervalle intervalle(s)
AV 10" x (1010)~7
4 10 10-9
4—-9x =0 V81
solution avhb
_ f(x)=—-1-8x
(x+10)(x — 10) image de 4
H(—6; 15)et E(1; 5) F(2; 0)et G(O; 4)
milieu distance




n°45

X €] — 00; 400 x €[6; +oo[ U[34; +oo]
inégalité(s) ensemble
6 o 12 107® x 1073
12 4 (10%)—4
—7x+6=0 282 — 322
solution
_ f(x)=2x+3
(6+x)(6—x) image de 6
F(17; Det C(4; 23) H(3; 10)et B(—6; —6)
milieu distance




n°46

x €] —18; 17]
inégalité(s)

1 5
___l__

—9x—-3=0
solution

(7 + x)?

E(8; 9et C(22; —20)
milieu

X €]l—o0; 7[N]—11; 9]
ensemble

21 + (—9) + (—9) x (+0)

16 X 24

fx)=—6x+2
antécédent de — 10

E(8; —6)et F(—2; 0)
distance




n°4.7

14 < x
intervalle

30 10
—_— X —_—
4 20

—4—x=0
solution

(5 + x)?

F(12; 24)et A(10; —5)

milieu

X €] —oo0; 3] U] —23; 14]
ensemble

(2—1)—4 X 2—10
2—7

9x 11

f(x) =—-10x—10
f(x) = —6

A(—=1; 5)etH(1; —10)
distance




n°48

—10<x <14
intervalle

6+7x=0
solution

(2 + x)?

A(—4; 16)et E(—12; 6)
milieu

x €]21; 23[ N]22; 27]
ensemble

12 — (-1) x (+2) — (+13)

142 — 62

f(x) =—-10x
antécédent de 4

B(—4; 10)et H(—2; 2)
distance




n°49

X €] —o0; —17]
inégalité(s)

N w

5
7

—6+3x=0
solution

(x — 6)°

C(12; 7)et B(10; —19)
milieu

x € [13; 25[ U[25; 4o
ensemble

7+ (=7)= (-9 x (-4)

V64
avb

fx)=2x—-1
image de — 9

C0; —4)etA(2; 4)
distance




n°50

X €[14; +oof 3<xet —11<x< -2
inégalité(s) intervalle(s)
44 (28)8 x 272
44 o—4
-9 —'6x =0 292
solution
N2 f(x)=9x -5
(x—4) antécédent de — 4
A(15; 6)et B(11; —9) B(—4; —8)et F(4; 5)
milieu distance




n°51

X € [—4; 4oof
inégalité(s)

6 8
_X_
4 10

6+7x=0
solution

(x + 6)?

A(3; 22)et B(10; 2)
milieu

—-10<x<1lou —8<x<13
intervalle(s)

100 x (10%)7
10—10

V40
avb

f(x)=-1—-6x
image de — 7

G(—2; 4)et B(4; —-2)
distance




n°52

x €]25; +oof —10<x<4et —4<x<16
inégalité(s) intervalle(s)
> > (1076)* x 108
4 8 10-6
-9 +'6x =0 152
solution
2 f(x)=5—-x
(6 +x) image de 7
E(—16; 10)et H(5; —17) D(-5; —1)et A(—7; 8)
milieu distance




n°53

X €]5; +oo[ x<—60ul7<x<20
inégalité(s) intervalle(s)
32 _ (10%)76 x 107°
24 100
—7x+1=0 19 x 21
solution
_ fx) = 9x
(x +3)(x = 3) antécédent de 4
A(12; —4)et G(—1; 21) G(4; —6)et E(—9; —4)
milieu distance




n°54

—13<x < -5
intervalle

N | Ol
_|_
| =

—7—=2x=0
solution

(11 — x)?

B(6; 4)et A(—9; 0)
milieu

—3<xou —13<x<17
intervalle(s)

107° x 102
(107)7

V81
avb

f(x)=—-4—-9x
antécédent de — 7

H(—4; —5etG(4; —=7)
distance




n°55

x €] —20; —9]
inégalité(s)

25 20
—_— X —_—
12 20

—7+x=0
solution

(—x + 3)?

G(—20; —3)et D(—1; —25)
milieu

—19<x<14et24< x <25
intervalle(s)

(54)4 X 58
52

41% — 392

f(x) =9x—-10
image de — 10

E(8; —4)et D(9; —3)
distance




n°56

x € [—3; 6] —19<xo0u7<x<10
inégalité(s) intervalle(s)
7 o 4 1078 x 1073
4 2 (10=2)2
solution
fx)=2—-10x
1+x)(1—x
(1+x)(1-x) o~
A(9; 21)et H(8; —14) D(—8; —6)et H(5; 3)
milieu distance




n°57

X € [23; +oof
inégalité(s)

1+5
10 70

x+9=0
solution

(x+12)(x —12)

A(—=14; 19)et E(0; 24)
milieu

—7<x<3etld<x
intervalle(s)

1010 x 10710
(1010)7

24% — 162

f(x)=x+10
antécédent de 8

F(0; —6)et D(—9; —8)
distance




n°58

—15<x < -5
intervalle

2 6
_X_
12 4

5—9x=0
solution

(7 4+ x)(7 — x)

B(—6; —4)et A(-5; 3)
milieu

23< x <27etx<18
intervalle(s)

0 — (=8)+ (+3) x (=5)

V100
avh

f(x)==-2x+7
antécédent de 3

G(—9; 3)et F(4; 3)
distance




n°59

3<x<8 x €]5; +oo[ U]29; +oo]
intervalle ensemble
3
g: —9 x (-6) — (—13) — (—18)
—l+7x=0 34 % 26
solution
)2 fx)=—-x-7
(6 —x) image de 10
D(—21; —10)et E(1; —14) D(—1; 9)et B(2; —4)
milieu distance




n°60

19 < x
intervalle

w|
I
o\ Ul

3x—10=0
solution

(—x + 8)?

B(—24; —22)et C(1; 23)
milieu

—16 <x<8et —20<x <20
intervalle(s)

(10~%)5 x 10°
10-5

482 — 522

f(x)=—-9 —4x
antécédent de 10

B(6; et F(—4; 1)
distance




n°61

X € [22; +oof
inégalité(s)

2 1
___l__

—7x+3=0
solution

(4 + x)?

G(2; 19)et D(—25; 21)
milieu

x €]29; +oo[ N]31; +oof
ensemble

22 + (=10) X 6 + (—20)

V250
avh

f(x)=—-2x—-5
antécédent de — 4

H(—-10; 4)et A(—6; —3)
distance




n°62

—-14<x<—4 20<xoul7<x
intervalle intervalle(s)
6 9 3 8—1 X (8—1)—2
6 8 g-10
8x =4 =0 202
solution

f(x)=—-10x+9

2
9 +x) antécédent de — 9

D(—16; 18)et B(—13; —10) H(7; 10)et D(2; —1)
milieu distance




n°63

15<x<18 22< x <240ul<x<8

intervalle intervalle(s)
o 21 + (=9) + (+4) X (=6)
3 15

7+10x =0 V48

solution avhb

(10 + x)(10 — x) flx)=T7x+6
f-4) =
A(=15; 22)et D(16; —2) F(5: 4)et H(S: 2)

milieu distance




n°64

X €]22; +oof
inégalité(s)

—5—-—6x=0
solution

(11 + x)?

G(18; 8)et A(—21; —20)
milieu

x €]25; 27[ N]26; 29|
ensemble

22 + (—17) + (—4) x (+8)

162

f(x)=-2x—-7
image de 5

B(—=7; —10)et C(—3; 3)
distance




n°65

—2<x<4
intervalle

24 12
—_— X —_—
12 30

7x—2=20
solution

(x+11)(x—11)

A(—21; 13)et D(—25; —21)
milieu

8<x<13etx<19
intervalle(s)

(1078)% x 102

10°
352 — 452
f(x)=—-9x+5
f(x) =3

A(—6; —2)et E(3; —2)
distance




n°66

—2<x<7
intervalle

x—4=0
solution

(x+4)(x —4)

E(—16; 9et B(—19; 19)
milieu

x<18et —8<x
intervalle(s)

(108)=6 x 10~1°

10-6
482 — 522
f(x)==7x—4
f4) =

F(7; 9etD(2; —1)
distance




n°67

6<x<8
intervalle

32
20

x—4=0
solution

(9 —x)?

E(10; —24)et D(—12; —20)
milieu

—9<xet22< x <26
intervalle(s)

~11 + 6 X (49) — 19

V16
avb

f(x)=—4x+9
fx) =4

A(—9; 3)et D(—4; 4)
distance




n°68

X €] — o0; 9]
inégalité(s)

5 12
_X_
6 7

1—-3x=0
solution

(11 + x)?

G(9; —13)et D(8; —7)

milieu

-10<x<170u —14 < x
intervalle(s)

24 — (=9) x (—10) — 4

142

f(x)=—-1+10x
f@) = =5

C(0; —4)et B(1; 9)
distance




n°69

—-6<x<-—4 x €]1; 8] U]3; 27]
intervalle ensemble
7_2 B (12>)10 x 1273
64 125
5x+7=0 V36
solution avhb
B f(x)=7+3x
(x+7)x=7) image de 1
F(15; —10)et C(15; —21) F(—=9; 5etH(-7; —1)
milieu distance




n°70

X €] — o0; —23] X €] —29; +oo[ N] — 25; —13]
inégalité(s) ensemble
15 o 24 10° x 10710
36 3 (10-9)5
—9x+2=0 242 — 162
solution
=6 — 3x
5+ x)* f(x)
G+ F&) =3
F(10; —8)et E(13; —1) D(—=7; 2)et A(—5; 8)
milieu distance




n°71

X €]22; +oof
inégalité(s)

108
96

—2x—4=0
solution

(12 + x)?

B(—6; —12)et E(22; 16)
milieu

x €] —29; =24[ U] —29; —13]

ensemble

1175 x (115)°
115

V128
avh

f(x) =7+ 6x
image de — 7

A(=7; 0)et G(5; 6)
distance




n°72

—3<x<0
intervalle

24
12

4x+8 =0
solution

(3 —x)?

E(—6; —16)et D(16; 1)
milieu

x €] —10; 30[ U]16; 28]
ensemble

(24)5 X 210
28

V54
avh

f(x) =—-9+4x
image de — 3

D(7; —4)et F(—6; 8)
distance




n°73

x €] —15; 13]
inégalité(s)

35
14

2x+7 =0
solution

(10 + x)(10 — x)

B(=7; —22)et A(—24; 14)
milieu

X €] —oo; +oo[ ] —29; 30]
ensemble

103 x (1010)°
106

14 X 6

f(x)=-2—-3x
image de 7

F(=3; —1)et G(8; 0)
distance




n°74

x €] —11; 1]
inégalité(s)

24
108

—7x—2=0
solution

(7 + x)?

F(-11; 3)et B(—1; —1)
milieu

22< x <280u —1<x<10
intervalle(s)

(1076)° x 102
107

12 x 8

f(x) =—-3+5x
image de — 1

D(—1; —6)et B(—9; 10)
distance




n°75

—-9<x< -6
intervalle

6 1

4 16

2—10x=0
solution

(x + 8)(x — 8)

B(13; —21)et C(9; 19)
milieu

X €] —o0; —16] U] —20; 1]

ensemble

(1076)° x 1076
10-8

162

f(x)=2x+10
image de 8

B(6; 1)et A(2; —10)
distance




n°76

x €] —18; —17]
inégalité(s)

10 5

8 80

4x —6 =0
solution

(1 + x)?

A(0; 14)et F(21; 14)
milieu

—4 <xetx <-—15
intervalle(s)

(10-7)"1 x 1010
108

272

f(x) =7+ 6x
image de 8

G(—6; —9et E(—7; —5)
distance




n°77

—18<x < -9
intervalle

—44+9x =0
solution

(x+4)(x —4)

F(18; 17)et B(—12; —18)
milieu

x €]15; 19[ U] —19; -7]
ensemble

7 + (=5)x 9 — (—18)

122

f(x) =—8x
f(6) =

B(5; —8)et F(—6; 10)
distance




n°78

x €]0; 2]
inégalité(s)

2 5

1 10

—10x—-5=0
solution

(—x + 6)?

H(—17; —6)et F(13; —18)
milieu

x € [15; 23[ U[21; +oo]
ensemble

23 — 4 x 8 — (+24)

53 X 47
f(x) =4+ 4x
F() = -8

E(1; 5etG(—9; 10)
distance




n°79

—17<x< -5
intervalle

9 5

8 24

—8—4x=0
solution

(4 + x)?

G(11; —24)et A(—=5; 17)
milieu

x €] —oo; 19[ N[21; 26]
ensemble

8—2 X (8—5)8
8-7

V225
avh

f(x)=-3x—-10
f@3) =

A(—4; —=5)et E(—1; —1)
distance




n°80

o<<x<7
intervalle

—2+5x=0
solution

(x+11)(x—11)

A(21; —4)et G(10; 0)
milieu

6<x<l1l3o0u22<x
intervalle(s)

1072 x 107
(107)~°

162

f(x) =—-5—-6x
f(x) =5

B(9; —6)et F(—6; 1)
distance




n°g1

x €]—3; 2]
inégalité(s)

9+9
4 16

—5—-10x=0
solution

(5 —x)?

G(—24; 9et A(—4; —22)
milieu

20 < xoux < -5
intervalle(s)

1x (=9 + (+5)+ 6

112

fO) = —4—x

image de 2

A(2; 10)et D(5; 0)
distance




n°g2

X €l—7; 17] x €] —27; 20] U[0; 29]
inégalité(s) ensemble
12 B 1073 x 103
12 (10-7)—6
6—x=0 142 — 62
solution
(x + 12)(x — 12) flx) = —4x+4
antécédent de 0
F(—1; 13)et D(—2; 8) E(10; —d)et F(—2; —=7)
milieu distance




n°83

3<x<7
intervalle

3 10
_X_
4 11

—3x+8=0
solution

(x — 4)?

F(9; 13)et H(—6; —7)
milieu

22 < x <27et —17<x <7
intervalle(s)

106 x (1079)8
104

182 — 222

fx)=4—-7x
FG) = 9

B(5; et G(—-1; —5)
distance




n°84

—-17 <x x €] —1; +oo[ N]19; 23]
intervalle ensemble
i X > —24 — (1) x (+4) — (+8)
10 8
~10=x=0 272 — 332
solution
f(x) =6+ 6x
x+7)(x—7
(x+7)(x = 7) =
C(—19; 21Det G(21; —6) D(5; 3)et H(—3; 7)
milieu distance




n°85

X € [21; +oof
inégalité(s)

6 6
_X_
24 6

—4x—10=0
solution

(1 + x)?

B(-2; 12)et H(7; 19)

milieu

x € [19; 29[ N[25; 30]

ensemble

273 x 276
(276)-°

V225
avh

f(x)=-1+6x
image de 9

F(—6; 10)et H(1; 8)

distance




n°86

20 < x
intervalle

O | U1

7
=X
3

—8—-9x=0
solution

(x+9)(x—9)

H(0; —19)et A(—1; —13)
milieu

3<x<l6ouz2d< x <26
intervalle(s)

1072 x 1077
(108)-10

272

f(x)=—-4x—18
f(5) =

C(0; 5)et F(—=7; 0)
distance




n°87

x <11 x<-—-let20<x
intervalle intervalle(s)
20 _ 10710 x (1071)10
20 105
—3+4+8x=0 V125
solution avb
= 1x
6 — x 2 f(X)
(6= (o) =8
B(2; —4)et A(22; —4) D(—4; —7)et F(9; 6)
milieu distance




n°88

x €]21; +oof
inégalité(s)

7 2
_X_
3 10

—5x+10=0
solution

(x — 4)?

E(5; 14)et H(—12; 1)
milieu

O<x<lbet —19<x <19
intervalle(s)

10'° x 1075
(10°)~*

162

f(x)=—-8x+2
f(=6) =

H(-3; —6)et C(—10; —10)
distance




n°89

—12<x<12
intervalle

6 9
_X_
11 7

—10x—-5=0
solution

(11 + x)(11 — x)

F(—=12; 14)et G(12; 3)
milieu

x €[—8; 12[ N[7; 10]
ensemble

109 x (10719)°
105

V36
avb

f(x) =5+ 5x
f(4) =

G(—8; 2)et A(4; 8)
distance




n°90

x € [—10; —4] x €] —24; 5[ U[-15; 4]
inégalité(s) ensemble
E _ (1073)% x 10*
49 107
solution
— A2 flx)=—-7x—-8
(x = 6) image de 3
A(7; Vet G(9; —5) H(-7; —6)et G(—2; —3)
milieu distance




n°91

—-6<x<4
intervalle

81
54

8+3x=0
solution

(9 —x)?

C(23; —2)et A(25; —18)
milieu

x €] —oo; 141 N]—12; 6]
ensemble

478 x 44
(4°)°

27% — 332

f(x) =4 —4x
f(x) =8

H(-3; 4)et D(—2; 6)
distance




n°92

2<x<15 —10<x<1lou —13<x<20
intervalle intervalle(s)
4 4
— 4+ — 7 X (-=1) + (-3) + 15
-+ (-1 + (-3)
L44x =0 332 — 272
solution
f(x) =—-6+6x
x+3)(x—3
(x +3)(x = 3) (=) =
C(5; 7)et B(11; —6) H(5; 7)et F(—3; 1)
milieu distance




n°93

—14 <x< -6
intervalle

28
21

x+10=0
solution

(3 —x)?

D(11; 20)et C(—-3; 17)
milieu

15<xet25< x <26
intervalle(s)

(1010)4 x 10~*
10-8

V27
avb

flx)=-3
f(6) =

C(10; —1)et B(—3; 6)
distance




n°94

x €[9; 18]
inégalité(s)

3+2
4 16

—3—-—x=0
solution

(x + 9)?

D(—24; —6)et B(21; 4)
milieu

x €] —24; +oo[ U[15; 19]
ensemble

24 x 2710

(21)°

492 — 512

f(x) = —4x

antécédent de 8

B(—9; —4)et D(-5; 1)
distance




n°95

x €]3; 16] —5<xetl7<x
inégalité(s) intervalle(s)
8 o 6 8% x 88
10 20 (8-9)-5
x + 1'= 0 192
solution
5 f(x)=—-6x+1
(11 +x) image de — 5
F(=2; 0)et A(19; —9) C(—2; —8)et D(—7; 0)
milieu distance




n°96

X €] — o0; 20]
inégalité(s)

10 7

9 54

8+4x =0
solution

(12 + x)?

G(23; 17)et C(4; —16)
milieu

—3<xoux<19
intervalle(s)

1075 x (102)°
103

V150
avh

f(x)=1+8x
f(x)=9

H(-5; 5)et E(—8; 10)
distance




n°97

7<x
intervalle

—6—x=0
solution

(x + 3)?

F(—17; 25)et A(—2; 1)
milieu

x €] —oo; =21 U] —22; 11]
ensemble

9 x8 — (-1)+ (-22)

V81
avb

f(x) =10+ 10x
image de 4

B(10; —3)et H(5; 4)
distance




n°98

X €] — o0; 18]
inégalité(s)

54
72

x—6=0
solution

(—x — 12)?

B(19; —25)et G(—10; 13)
milieu

x €]19; 27[ N]25; 29]
ensemble

24 — (=17) — (—4) X 3

V250
avh

fx)=—-7+7x
antécédent de — 3

E(4; 10)et G(3; 5)
distance




n°99

—3<x<17
intervalle

10 18
—_— X —_—
12 20

—9x+1=0
solution

(x + 4)?

B(7; 25)et A(—8; —19)
milieu

x<12etl1 < x
intervalle(s)

(8—4-)—8 X 88
8—4

31 x 29

f(x) =4 —8x
f-1) =

C(8; —4)et A(—3; 10)
distance




